Technical Description

Tool changer TC20

MO117-1

Tool changers | Swivels | Swivel tool changers | Grippers | Hose packages | Valve units | Tool systems

—

/ products






The information in this document is subject to change without prior notice and should not be
regarded as an undertaking from Robot System Products AB. Robot System Products AB
assumes no responsibility for errors that may occur in this document.

Robot System Products AB bears no responsibility for damage that is incurred by the use of this
document, or the software or hardware described in this document.

The document, or parts of it, may not be reproduced or copied without prior permission from
Robot System Products AB. It may neither be imparted to a third party, nor otherwise be used
without authorization. Infringement hereof will be subject to action in accordance with the
applicable laws.

Further copies of this document can be obtained from Robot System Products AB at
current prices.

© Robot System Products AB

Robot Systems Products AB
Isolatorvagen 4

SE-721 37 Vasteras
Sweden



CONTENTS

1 INTRODUCGTION ..eiiiiiei et e e e e e e e e e e e s e e et e eeanneees 5
I S o (oo o o =T T [T SR 6
1.2 DOCUMEIES ...ttt oottt e e e e ettt et e e e e e e e et e e ettt e e e e e e e eeenbbaaaeeeaaas 6
RGNV T T g oI T £ SO UPPPPTRPPN 6
1.4 Complementary €QUIPIMENT .......u.iii e e e e e e et e e e e e e e e ar e e e eees 6

2 TECHNICAL SPECIFICATIONS . ..ot eaas 7
2.1 Description of tool changers and tool attaChments .................evvviiiiiiiiiiiiiiiiis 7

2.1.1 Coordinate System Definition ...........cooiiiiiiiiiii e 8
2.1.2 Tool changer with air, TC20-4. Article: POLO0L .........oooiiiiiiieiiiiie ettt 9
2.1.3 Tool changer with TC Opened sensor, TC20-4. Article: P1140........ccccoeeeiiiiieeeiiiieeeenns 10
2.1.4 Tool changer ID with air, TC20-4 ID. Article N0: PO139 .....ccceeiiiiiiiiiiiie e 11
2.1.5 Tool attachment TA20-4, ArtiCle: POL02 ..........uiiiiiiiiiiiiiiieeie e 12
2.1.6 Tool attachment TA20-4 steel, Article: POL23........cooiiiiiiiiieeiiiiieee e 13
2.1.7 Tool changer with air and electric signals TC20-4E. Article: PO103........cccooeveiiiiiiiiiiinnn. 14
2.1.8 Tool attachment TA20-4E, Article: POL04 .........oooi it 15
2.1.9 Tool attachment TA20-4E steel, Article: POL24 ... 16
2.1.10 Tool changer ID with air and electric signals TC20-4E ID. Article: PO133..........ccccunee. 17
2.1.11 Tool attachment TA20-4E, Article N0: POL38.......ccooiiiiiiiiiieaiiiiieeee e 18
2.1.12 Tool attachment TA20-4E steel, Article N0: PL137 ....ooovveiiiiiiiiieeiee e 19
2.1.13 Pneumatic diagram for TC20, TC20 ID and TA20 ........uueveieeeiiiiiiiiiieee e eeeiiieeeeee e e 20
2.1.14 Circuit diagram E0185-029 fOr PLLA0 ........ccuueiiiiiiieeiiiieee ettt srneee e 21
2.1.15 Circuit diagram E0185-001 for P0103 with P0104 and PO124 ...........ccccceeviieeeeiiieeeennns 22
2.1.16 Circuit diagram E0185-013 fOr POL33......ccicuiiiiiiiiieeiiiiiee ettt srnee e 23
2.1.17 Circuit diagram E0208-001 fOr PLL37 ....ccoiiiuiiieiiiiiee ittt sbeee e 24
2.2 Options fOr tO0I CRANGET ......uueii e e e e e eaaees 25
2.2.1 RODOt @d@Ptation KilS........cooiiiiiieiiiiiee ittt et et e e s sbe e e e ene 25
2.2.2 TOO! IAENTIFICALION ..eeeiieeieeee ettt e e e et e e e e e e s e ababeeeeeaeeeaannnes 25
2.2.3 Limitation of RODOt MOVEMENTS .........eiiiiiiiiiiiiiiie e 25
2.2.4 Signal interface, 8 signals, robot side. Article: P1113........cccooiiiiiiiiiiiieiieicccec 26
2.2.5 Signal interface, 8 signals, tool side. Article: P1114 ........ccoooiiiiiiiiiiieeeeecceccc 26
2.2.6 Signal interface, 12 signals, robot side. Article: P1131.......ccccooiiiiiiiiiiiiiieiceececc 27
2.2.7 Signal interface, 12 signals, tool side. Article: P1132 .......cccoooiiiiiiiiieieiieccceeecc 27
2.2.8 Circuit diagram E0208-044 for P1131 and P1132 .......cccooiiiiiiiiicceecceee e 28
2.2.9 Signal interface, M12 X-coded, robot side. Article: P1163..........cccccovvveeeiiiiiiiineee e 29
2.2.10 Signal interface, M12 X-coded, tool side. Article: P1164 ..........cccccveeeeeiiiciiiieeee e 29
2.2.11 Circuit diagram E0208-077 fOr PLLB3 .......cccuueiiiiiiiiee ittt sieee e 30
2.2.12 Circuit diagram E0208-078 fOr PLLBA ........ccuueeiiiiiieeiiiieee ettt 31
2.2.13 4x air coupling M5, robot side. Article: PLL15 ... ..o 32
2.2.14 Ax air coupling M5, tool side. Article: PL116 .......c..ceeviiiiieiiiiiee i 33
2.2.15 Tool stand Kit 20. ArtiCle: POLA2........coooi ittt a e 33

B S P A RE PA R T S e 34
3.1 Part list for tool changer P0101, PO103 and P1140 ........oooiiiiiiiiieeeeieeeeiiieee e 34
3.2 Part list for tool changer P0139 and POL133 ..........uuuuiiiiiiiiiiiiiiiiiniiiiiieieieieenieeeennennnnee 35
3.3 Part list for signal interface PLL13 ... e e e eeeees 36

3.4 Part list for signal interface P1131 and PL163........ccooiiiiiiiiiiiiiiiii e eeeeeeaenns 36



1 INTRODUCTION

Robot System Products is a front-rank provider of peripheral products for high performance
robot applications. We provide complete system solutions for your robot installations, aiming to
improve your productivity with the most reliable and cost-effective tooling on the market.
Continuously we explore emerging technologies, working with leading edge design.

Robot System Products has a wide range of standard robot peripheral products:

Tool changers
Swivels

Swivel tool changers
CiRo

Grippers

Hose Packages
Valve units

Tool systems

Tool parking systems

Robot System Products’ tool changers are constructed to maximize the flexibility and reliability
of your robot fleet. Through our patented locking device TrueConnect™ robustness and high
safety are combined with low weight and compactness. With our swivels compressed air, water,
electrical and data signals as well as weld and servo power are transferred to your tools with
robot motion capabilities fully maintained. Our swivel tool changers unite the TrueConnect™
mechanism with our swivel technology, combining the best out of the two technologies. With
RSP’s cost-effective CiRo, cables and hoses can be freely selected with high robot flexibility
maintained, and space requirements reduced. Our integrated tool systems are delivered as
complete plug-and-play solutions designed for quick and simple installation.

Robot System Products’ product lines are available for all major robot brands and come with
complete documentation. 3D-models for simulation are available for download at:
WWW.rsp.eu.com.

MO0117-1 version 3.6 5


http://www.rsp.eu.com/

1.1 RSP tool changer

The Robot System Products’ tool changers enable robots to handle and switch between multiple
tools. They are built to ensure reliable and smooth operation, being compact with low weight and
robust design and incorporating many safety features. Depending on model and options,
electrical signals, weld and servo power, data, water and compressed air are transferred from
the robot side to the tool.

The patented locking device TrueConnect™ has a minimum of play and gives a practically,
through the lifespan, absolute positioning repeatability. The principle behind the locking
mechanism is the uniform distribution of load obtained by pressing locking balls into spherical
grooves. In consequence, substantially larger positional tolerances are accepted during docking.

1.2 Documents

This Technical Description contains product information and data, drawings, circuit and
pneumatic diagrams and lists of spare parts. In the document Installation and Maintenance
(M0119-1) procedures for mounting, installation and replacement of equipment are described
together with descriptions of inspection, cleaning and lubrication activities including
recommended maintenance intervals.

1.3 Wear parts

Wear parts should be replaced before considerable damage occurs. The interval depends on the
number of tool changes and its working environment. Generally, the more contaminated
environment, the closer maintenance intervals.

The following parts are considered as wear parts:

o Signal pins
o Air sealings
o  O-rings

1.4 Complementary equipment

Complementary equipment is described in separate documents.

Article Note

External valve units Mounted at the rear of the upper arm. Shuts off the air
automatically during tool changing.

Tool parking systems RSP tool parking systems give rigid installations for easy tool
changing.

Connection kits Connection kits for tool changers and tool attachments
simplifying electrical installations.

3D-models Available in Solid Works®, STEP and Parasolid format.

6 MO0117-1 version 3.6



2 TECHNICAL SPECIFICATIONS

2.1 Description of tool changers and tool attachments

This document presents the Robot System Products TC20-4 tool changers, including tool
attachments, dedicated for material handling. Likewise presented are adaptation kits, connection
kits to facilitate electrical installation and a tool stand kit.

The tool changer TC20-4 transfers compressed air to the tool. It can be equipped with transfer of
electrical signals, via spring loaded signal pins, to the tool attachment. The electrical version is
designated 'E’. The tool changers TC20-4 ID and TC20-4E ID are dedicated for the use on
robots with integrated dressing. This series of TC20 tool changers cannot transport fluids.

The contact surface of the tool attachment and the signal pins are not in connection until at the
very end of the docking cycle when the tool attachment is already properly aligned. This
guarantees a minimum of wear of the contact surfaces.

The electrical unit is primarily intended for transfer of sensor signals from grippers. In addition, it
can be used for checking the presence and identifying tools by using signal jumpers and binary
coding of signals on the tool attachment.

For other bolt circles adaptation plates between the tool changer and the turning disc on the
robot may be needed. Such adaptation plates are available from RSP.

TC20-4E

M0117-1 version 3.6 7



2.1.1 Coordinate System Definition

A tool changer adds load to the robot. If the arm and tool loads are not stated correctly during
programming the behaviour of the robot and the wear of the equipment will be affected.
Information about weight and centre of gravity can, in accordance with the co-ordinate system
stated below, be found in the technical specification tables of the tool changer.

NOTE! For the tool changer and tool changer with tool attachment, the origo of
the co-ordinate system is situated in the centre of the robot mounting flange.

=@

8 MO0117-1 version 3.6



2.1.2 Tool changer with air, TC20-4. Article: P0101

D6 M6

—~— 450

| M6[4X]

Q1

Tool changer TC20-4 transfers 4 pneumatic channels to the tool attachment and has separate
inlets for Open TC and Close TC. To be used together with tool attachments P0102 or P0123.

Technical data

Working temperature +10°C - +50°C
Bolt pattern ISO 9409-1-40-4-M6
IP classification IP 54
Maximum tool Fz (static) 200 N
load Mx/My (dynamic) +200 Nm
Mz (dynamic) +100 Nm
Weight and centre of gravity (2)
TX (P0101) 0.4 kg /18 mm
TC + (TA) P0102 0,5kg /22 mm
TC + (TA) P0123 0.7kg /26 mm
Air channels Pneumatic diagram See section 2.1.13
User channels, robot side 4 x M5 (150 I/min, max 10 bar)
Dedicated channels, G 1/8” Open TC marked Open (6-10 bar)
Close TC marked Close (6-10 bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content

MO0117-1 version 3.6 9



2.1.3 Tool changer with TC Opened sensor, TC20-4. Article: P1140

7,2‘;%'

®25h7 .

O
Q64

—

®é6mé |
-

29

Tool changer TC20-4 transfers 4 pneumatic channels and has a magnetic sensor for TC
Opened. To be used together with tool attachments P0102 or P0123.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

ISO 9409-1-40-4-M6

IP classification

IP 54

Maximum tool Fz (static) +200 N
load Mx/My (dynamic) +200 Nm

Mz (dynamic) +100 Nm
Weight and centre of gravity (2)
TC (P1140) 0.4 kg /18 mm
TC + (TA) P0102 0,5kg /22 mm
TC + (TA) P0123 0.7 kg /26 mm

Air channels Pneumatic diagram
User channels, robot side
Dedicated channels, G 1/8”

See section 2.1.13

4 x M5 (150 I/min, max 10 bar)
Open TC marked Open (6-10 bar)
Close TC marked Close (6-10 bar)

Air quality Oil-clean and waterless filtered air, with max
25um particle content
Electrical signals Circuit diagram E0185-029 (section 2.1.14)

Dedicated signal
Connection, robot side

TC Opened
M8 3p

10

MO0117-1 version 3.6



2.1.4 Tool changer ID with air, TC20-4 ID. Article no: P0139

D 64

D6 mMb

38 h7

& 40 ‘ —7J£ L

Tool changer TC20-4 ID transfers 4 pneumatic channels to the tool attachment and has inlets for
Open TC and Close TC. To be used together with tool attachments P0102 or P0123.

Technical data

Working temperature +10°C-+60°C
Bolt pattern ISO 9409-1-40-4-M6
Maximum tool Fz (static) +200 N
load Mx/My (dynamic) +200 Nm
Mz (dynamic) +100 Nm
Weight and centre of gravity (2)
TC (P0139) 0.7kg /34 mm
TC + TA (P0102) 0,8 kg /38 mm
TC + TA (P0123) 1,0kg /42 mm
Air ducts Pneumatic diagram See section 2.1.13
User channels, robot side 4 x 4 mm (100 I/min, max 10 bar)
Dedicated channels, 2 x 4 mm Open TC marked O (6-10 bar)
Close TC marked C (6-10 bar)
Air quality Oil-clean and waterless filtered air, with max
25pum particle content

M0117-1 version 3.6 11



2.1.5 Tool attachment TA20-4, Article: P0102

o

34,5

82
l\m
VXK
1
; : =
— ™
( | \ 3
N )
+
KX
 E——
2.5

Tool attachment TA20-4 transfers 4 pneumatic channels to the tool. To be used together with

P0101 or PO139.

Technical data

Working temperature +10°C - +50°C
Bolt pattern 1ISO 9409-1-50-4-M6
Weight 0.1 kg
Maximum tool load Fz (static) +200 N
(M6-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +100 Nm
Maximum tool load Fz (static) +200 N
(M5-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +75 Nm
Air channels Connections, tool side 4 x M5
Q@ NOTE! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.
12 MO0117-1 version 3.6



2.1.6 Tool attachment TA20-4 steel, Article: P0123

Ry
%

00)

)

N
9 f)

34,5

Z

1

Tool attachment TA20-4 transfers 4 pneumatic channels to the tool. To be used together with
P0101 or P0139.

Technical data

Working temperature +10°C - +50°C
Bolt pattern ISO 9409-1-50-4-M6
Weight 0.3 kg
Maximum tool load Fz (static) +200 N
(M6-screws) Mx/My (dynamic) +200 Nm
Mz (dynamic) +100 Nm
Maximum tool load Fz (static) +200 N
(M5-screws) Mx/My (dynamic) +200 Nm
Mz (dynamic) +75 Nm
Air channels Connections, tool side 4 x M5

© NOTE! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

MO0117-1 version 3.6 13



2.1.7 Tool changer with air and electric signals TC20-4E. Article: P0103

26(4X)

€

f—— 0 1\5\0
- T

! =

(&>

@6 méb

-

L1

a0

Tool changer TC20-4E transfers 4 pneumatic channels and 8 electrical signals to the tool
attachment and has separate inlets for Open TC and Close TC. To be used together with tool
attachments P0104 or P0124.

Working temperature

+10°C - +50°C

Bolt pattern

ISO 9409-1-40-4-M6

IP classification IP 54
Maximum tool Fz (static) +200 N
load Mx/My (dynamic) +200 Nm

Mz (dynamic) +100 Nm
Weight and centre of gravity (2)
TC (P0103) 0.4 kg /18 mm
TC + (TA) P0104 0,5kg /22 mm
TC + (TA) P0124 0.7 kg / 26 mm

Pneu
User

Air channels

Dedicated channels, 2 x M5

matic diagram
channels, robot side

See section 2.1.13

4 x M5 (150 I/min, max 10 bar)
Open TC marked 6 (6-10 bar)
Close TC marked 5 (6-10 bar)

Air quality Oil-clean and waterless filtered air, with max
25um particle content,
Electrical sighals Circuit diagram E0185-001 (section 2.1.15)

M12 8P, A-coded PM

8 x (1A, 30V)

Connection kits
(optional)

P0025 (cable kit)
P0025-30 (cable kit)

M12 8S—-M12 8P, 2-meter cable (0,25 mm2)
M12 8S5—-M12 8P, 3-meter cable (0,25 mmg)

14

MO0117-1 version 3.6




2.1.8 Tool attachment TA20-4E, Article: P0104

34,5

_90° -

32

32

(2x)

H7
5

—
|
a |

o0 Mé
w
;%ggg !
®5.2 J L
x:‘“‘ ]O [

Tool attachment TA20-4E transfers 4 pneumatic channels and 8 electrical signals to the tool. To
be used together with P0103.

Technical data

Working temperature

+10°C - +50°C

Bolt pattern

ISO 9409-1-50-4-M6

Weight 0.1 kg

Maximum tool load Fz (static) +200 N

(M6-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +100 Nm

Maximum tool load Fz (static) +200 N

(M5-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +75 Nm

Air channels Connections, tool side 4 x M5

Electrical signals Circuit diagram E0185-001 (section 2.1.15)
Total number of signals 8

Connection, tool side

0.5 m cable (0.25 mm?), open end

O NOTE! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

MO0117-1 version 3.6

15



2.1.9 Tool attachment TA20-4E steel, Article: P0124

=
]

s

H7

::(

N

h

D Mé (4X)

—

Tool attachment TA20-4E transfers 4 pneumatic channels and 8 electrical signals to the tool. To
be used together with P0103.

Technical data

Working temperature +10°C - +50°C
Bolt pattern ISO 9409-1-50-4-M6
Weight 0.1 kg
Maximum tool load Fz (static) +200 N
(M6-screws) Mx/My (dynamic) +200 Nm
Mz (dynamic) +100 Nm
Maximum tool load Fz (static) +200 N
(M5-screws) Mx/My (dynamic) +200 Nm
Mz (dynamic) +75 Nm
Air ducts Connections, tool side 4 x M5
Electrical sighals Circuit diagram E0185-001 (section 2.1.15)
Total number of signals 8
Connection, tool side 0.5 m cable (0.25 mm?), open end
@ Note! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

16 M0117-1 version 3.6



2.1.10 Tool changer ID with air and electric signals TC20-4E ID.
Article: P0133

90°

6 méb

38 H7
\GL
Q
&
0

3 56

Tool changer TC20-4E ID transfers 4 pneumatic channels and 8 electrical signals to the tool
attachment and has inlets for Open TC and Close TC. To be used together with tool attachments
P0138 or P1137.

Technical data

Working temperature +10°C-+60°C
Bolt pattern ISO 9409-1-40-4-M6
Maximum tool load Fz (static) +200 N
Mx/My (dynamic) 200 Nm
Mz (dynamic) +100 Nm
Weight and centre of gravity (2)
TC (P0133) 0.7 kg /34 mm
TC + TA (P0138) 0.8 kg /40 mm
TC + TA (P1137) 1.0 kg / 44 mm
Air ducts Pneumatic diagram See section 2.1.13
User channels, robot side 4 x 4 mm (100 I/min, max 10 bar)
Dedicated channels, 2 x 4 mm Open TC marked O (6-10 bar)
Close TC marked C (6-10 bar)
Air quality Oil-clean and waterless filtered air, with
max 25um particle content
Electrical signals Circuit diagram E0185-013 (see section 2.1.16)
Mini-snap connector (10925) 8 x (0.5A, 60V)
ODU GH1L0C-P0O8PFG0-0000
Connection kits P8153-12/15/18/20 (Cable kit for ODU 8S - M12 8P, 1.2/1.5/1.8/2.0-meter
(optional) connection box) cable (0,25 mm2)

M0117-1 version 3.6 17



2.1.11 Tool attachment TA20-4E, Article no: P0138

A‘; T

A [ —

40,5

32 (4x)

EY T W
3

Tool attachment TA20-4E transfers 4 pneumatic channels and 13 electrical signals to the tool.
To be used together with P0133.

Technical data

Working temperature +10°C-+60°C

Bolt pattern ISO 9409-1-50-4-M6

Weight 0.1 kg

Maximum tool load Fz (static) +200 N

M6-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +100 Nm

Maximum tool load Fz (static) +200 N

(M5-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +75 Nm

Air channels Connections, tool side 4 x M5

Electrical sighals Circuit diagram E0208-001 (see section 2.1.17)
Connection tool side 1 x M8 4S (2 x signal, 24V, 0V)

3 x M8 3S (signal, 24V, 0V)

@ Note! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

18 M0117-1 version 3.6



2.1.12 Tool attachment TA20-4E steel, Article no: P1137

A —

40,5

32 (4x)

N

A

Tool attachment TA20-4E transfers 4 pneumatic channels and 13 electrical signals to the tool.
To be used together with P0133.

Technical data

Working temperature +10°C-+60°C

Bolt pattern ISO 9409-1-50-4-M6

Weight 0.3 kg

Maximum tool load Fz (static) +200 N

M6-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +100 Nm

Maximum tool load Fz (static) +200 N

(M5-screws) Mx/My (dynamic) +100 Nm
Mz (dynamic) +75 Nm

Air channels Connections, tool side 4 x M5

Electrical signals Circuit diagram E0208-001 (see section 2.1.17)
Connection tool side 1 x M8 4S (2 x signal, 24V, 0V)

3 x M8 3S (signal, 24V, 0V)

&) Note! Tools can be mounted to the tool attachment using four M6-screws,
I alternatively the tool attachment can be mounted to the tool using four M5-screws.

MO0117-1 version 3.6 19



2.1.13 Pneumatic diagram for TC20, TC20 ID and TA20

1 (air-1 to 10 bar)
2 (air-1 to 10 bar)
3 (air-1 to 10 bar)
4 (air-1 to 10 bar)

Tool Changer

5 CLOSE (air 6 to 10 bar)

% _j 6 OPEN (air 6 to 10 bar)

Tool Attachment

4 (air-1 to 10 bar)
3 (air-1 to 10 bar)
2 (air-1 to 10 bar)
1 (air-1 to 10 bar)

20 MO0117-1 version 3.6



2.1.14 Circuit diagram E0185-029 for P1140

21

» I v B [ 2 [ 1
A —\ Ov F O < m N o m m F O m m< m“o n UQL n \\ Q3A0HddY 3iva NOILdINOS3a ‘A3¥ | 3NOZ -
(sebed jo 'ON) ebed | ‘Aay (sweus)y) "ou juawnoog Jewio4 \ weiBeip UNUD 0} PEIoBUUD
Anwey soedsseup 0} Buipsoddy — 4
uonealuNWWo) SN / lieliesed uonduoseq r_.—._Z Aq peacsddy
Ovlid 0201 4ebueyo joo] gLwe0s
NH
uonduoseq Aq peubiseq
uoijodBUUOo? JBwolsn)
weiBeip Inas) 0} pajoauuo)
3 z |
a
€
14
- 13
aew g\
= [ms ] MO
sh 8] _ vl_ jeubis ‘pasojo Jo pauadQ O 1
o fom 1 | AvZ
2 £ .
ON "dNd
Ovlld OL 40} WZ'0:] ‘APZ ‘€6€L1 Josuas uadQ / paso|d DL
LS
v
8 [ L [ 9 s [ v € [ 2 [ 1

MO0117-1 version 3.6




- I [ 3 [ 2 1
A FOV Lo d —\ Oo mw F om €V | sjonpoud \ aanouddv | 3iva NOILJIOS3a [ nay Janoz ¥00-71203
(sebed jo ‘ON) abed | Ay (aweuayy) "ou Juswnoog Jewso \ wesberp Y40 of 2k
e AN e ht 0ZV.L Pue 0zO1 wosmpd0ali03 |
- MHO
uogesunwwoy SNg / lIelesed uonduoseq Aq paaosddy
NVYHOVIA LINDYHIO O1V vi-bis00e
rN
uonduoseq Aq peubiseq -
uoioeuuoo Jawosny |
wieuBep ynod o} ol
L 4 € 14
S 9 L 8
I t
W 5'0/8 45y o¥3ann]
- - ¢
a3y a3y 8 8 8 a3y 8 880
ENNE Ey R Aml B = e =2
2 SINId SNid o © T Nid o] 90 0
- S ——
AJHO AJHO S s § AJHO S 953
MOTI3X MOTIZX ¥ 14 4 MOTI3X ¥ ¥SO
N3399 N9 e © - - N e ©0
NMOSg Nmoug 2| © & - Wwoug 20| °S°
e ETY . I Rl B ' e ETNT ] B e
| cwwgz o cwwgz o
i L _
SO by SO ¢y
|| ww 009 (9qeD ||
¥210d pue $0,0d INJWHOVLLY TO0L €010d 01V Y3ONVYHO T00L
Y ¥00-G8L0V :Buimelp Alquassy ¥

2.1.15 Circuit diagram E0185-001 for P0O103 with P0104 and P0124

MO0117-1 version 3.6

22



2.1.16 Circuit diagram E0185-013 for P0133

o [ v € [ 2 i
A _\ Ov _\O ﬁ_ m F O mw _\ Om MU< S3onpoJd \\ Q3A0NddY ava NOILdOS3A ‘A3d | 3Noz 001203
weibelp 1NauID 0} peloeuuoy
(sebed jo ‘'ON) ebed | ‘Aey (eweusyy) "ou jJuswnoog JeuLoS 80-01-81 ‘ppe eyxd 1pepo) ‘(10jeq se soed a
H PUEH 1B \ WS 0u) U] £20100) POBuYD SUId 10D BUDGWINN 00L-¥1203
Aywey yoedssaip oy Buipioddy weiBe|p JInaJI) 0} pajosuuo)
0 SN8 /eiesed nduoseq va Aq penciddy
al 3¥-0zo1 11-90-€10C
eleq
a or 4q peubiseq
uoI}O3UU0D JBWOISND
wesBeip yInauQ 0} pajauuoy peyy—
3
|eubig sswoisn) = wmg
¢a i
i A v ¥89 15— za® A
A oo>ov—wo T el 3a®
Od A ¥2+) S SO T NG a®
a
B 980 = C )
- C!! —)
©aA0) 1 SO M ”M Mwu K QuuuIvE'
(OaAvzssd Iy . ®
o)
) e ;
880 [>5—5g za" glll —_— a3y 2 880
A (oan o.w 180 > g 75 ETE] T (paidnod 1) 280
OQ A ¥2+) S SO T NG Fohd SN z 980
o s P T (0a A vz+) 680
(pajdnod o1) 280 |hn 4
SO
MOTI3A L
(Auo z€11d ‘8€10d) € SO z ;) n(ﬂ T C 4“ NEENG] 5 (uopdo) €80
g A ; ¢80 Dy —g Zv® 5 NWoua 5 ¢80
; oo>ov_mo = g o < —) ET) 3 (0aA0-)1s0
Od A ¥2+) S SO by NE E( 18 4\ ]
v S0/d9 Vi davo8 NOLNERLSIA; TS/ 0L
I¥—0C V1 FUSWYODlY [00] “GZ10d PUD 6010d dl 3¥—0¢ OL Jsbuby) [ool ‘c¢l0d

w

23

MO0117-1 version 3.6



E0208-001 for PO138 and P1137

it diagram

Ircul

21.17C

(o) 10[ 3 100-80203| ev

(sebed jo ‘ON) efed | Aoy (eweuseyly) "ou Juswndoq Jeuno4

Auwey ﬁ_u m&_wm,mﬂhnmm« I-0201S

s79npoJd \

i

1

¥00-71203

weibelp YnosY 0} palosuuo)

00L-¥1203

weiBe|p yNoJID O} PeIdBuLo)

) wﬁm\ lI2lesed uosag %HO Aq dd
1abueyo [00] / [BAIMS vilisoz
uonduosaq _JS_ Aq paubisag
UOI)28UUO0D JBW0)SND
weiBeIp JINAIID 0} PoIBUL0D VL MaIA JLMaA 20124 ¥SD
uaaJg ‘vopdy €53 €
3 ang ‘padnog 1 L83 ‘¢ w32
¥, A A0TSIT
14
[
g N
vS0 1 d5—i3g Za 7<=
(0ano)Lso b e 3q
|| (0aA¥Z+) §S0 T Na Ta
a
980 |>——o e
(0aA0) 1S \M MM MM i e SUYED
k] (0aA¥Z+) §SO T Na )
ta* "
—— w Mw R pAc) 7<|i™= [GER) a9 g™ | 880
L T ina 7} 38 EQYC 7™=| (pe1dnod 01) 480
] oAz S8 VL— ,H 1) SN SN g™=| 95°
S5 =5 | (00 A¥Z+) 85D
(paidnod 01) 280 7 C| jm—— —
H
LCLES MOTTIAT 7| ¥SO
€ (LeL1d pue geLod) €S9 [ AT [Thd 3 - EERG) NEERS]| 3 (8£10d) €S2
i www e v 7<= m wWoug woug z wwo ;
- . 2aA0-) 18O
Pl codll S L W pC || — EIL U ETI[) T
T Na [ad g¢|™g
|| Vv Q¥V08 NOLNERLSI| S5/d0 €d
: UM BAIMS T8010d

3¥—0T VIS 3Iuswyopny [00] /glld PUP 8¢10d ‘SZL0d ‘6010d

|eubig Jawoisn) = 89

MO0117-1 version 3.6

w

24



2.2 Options for tool changer

2.2.1 Robot adaptation kits

Robot adaptation kits are required for mounting on robot flanges using alternative bolt patterns
and consist of an adaptation plate including mounting screws. Robot adaptation kits for various
robot models are available from RSP.

Example of adaptation plate with mounting screws

2.2.2 Tool Identification

Jumpers on signals at the tool attachment can be used to give information about which tool
attachment that is docked in the tool changer.

2.2.3 Limitation of Robot movements

There can be some limitations on the movement of axis 5 for some robot models. Contact Robot
System Products for more information.

MO0117-1 version 3.6 25



2.2.4 Signal interface, 8 signals, robot side. Article: P1113

8 (Red)
7 (Blue) .
)
= X
[ | P
1 (White) U - U J U
2 (Brown) i
3 (Green)
4 (Yellow)

Transfers 8 electrical signals to the tool attachment. Can be mounted at two different positions
on the tool changer. To be used with option P1114 on the tool attachment.

Technical data

Weight 0.05 kg
Electrical signals Circuit diagram E0185-001 (section 2.1.15)
Total signals 8 x (1A, 30V)
Connection, robot side M12 8p, A-coded PM
O NOTE! One P1113 is included in tool changer P0103. An additional P1113 can be
I mounted on P0103, making totally 16 electrical signals transferable. Can not be

mounted on TC20-4 ID P0139 or P0133).

2.2.5 Signal interface, 8 signals, tool side. Article: P1114

Transfers 8 electrical signals to the tool. Can be mounted at two different positions on the tool
attachment. To be used with option P1113 on the tool changer.

Yellow “Red
Green Blue
182
®© @
(4o |
Brown White Gray Pink
Technical data
Weight 0.05 kg
Electrical sighals Circuit diagram E0185-001 (section 2.1.15)
Connection, tool side 0.5 m cable (0.25 mm?), open end
i NOTE! One P1114 is included in tool attachments P0104 and P0124. An
additional P1114 can be mounted on P0104 and P0124.

26 M0117-1 version 3.6



2.2.6 Signal interface, 12 signals, robot side. Article: P1131

26,5

U U J U -

Transfers 12 electrical signals to the tool attachment. Can be mounted at two different positions
on the TC20 tool changers. To be used with option P1132 on the tool attachment.

Technical data

Weight 0.05 kg
Electrical signals Circuit diagram E0208-044 (section 2.2.8)
Total signals 12 x (1A, 30V)
Connection, robot side M12 12P, A-coded PM
i NOTE! Can not be mounted on TC20-4 ID P0139 or P0133.

2.2.7 Signal interface, 12 signals, tool side. Article: P1132

Transfers 12 electrical signals to the tool. Can be mounted at two different positions on the tool
attachment. To be used with option P1131 on the tool changer.

J: -
= =

e ) L=

500

O
O
O
O

J U J U

Technical data

Weight 0.05 kg
Electrical signals Circuit diagram E0208-044 (section 2.2.8)
Connection, tool side 0.5 m cable (0.25 mm?), open end

M0117-1 version 3.6 27



2.2.8 Circuit diagram E0208-044 for P1131 and P1132

(Lo) LO| V

£

wesBeip ynduID 0) PEjBUUY

weBerp ynouo o)

Q

[

w

qwo- w O No m m< muu: uuL 1 \\ A3A0¥ddY 3iva NOILJIYOS3a A3y 3NOZ
(sebed Jo 'oN) 8bed | Aoy (aweuayy) "ou Juswnoog JeuLo I\ = -
z_Em_xuuﬁEWMM.ﬂ.ﬁn_Q ONOl_I CO_HQO _mcm_w
= Wor
D SN / lIeliesed uonduosag Aq panosddy
AVH9VIA LINDYHID Lozi-9l0e aeg ‘
a NH Aq pauBisag 3 j
:o_uow:&ooLmEcumzo _ B % § h
weJbeip 1N o} ol \
ATIVATA (666 o) “H-_
N i N —e [-X) e_ [|_mm
\ |
. O000 L 20 9;
OO0OO ,
OO0
|  — = ._ bem SE -
. Im_ oL Izl
a
- 4 ﬂ|J|| Z180
ne/ad ne/au 2t _ ¢l g ne7ogzr— “°>
Md/AD Sa/o i Ad/AD L1
oL ob lmm mm! 01SD
— IA noe AOL
- 6 6 - G g™ 680
ay ay
_
5 5 yG) ml 8 8 [ yG) w- 8S0
] NE] ml L VA - 5E ml. 1SO
ETN =yl e 9 - TN wl_ 959
|| Sid 7 R o - e
NS NS v v v - NS v =] ¥SO
g Ey m | ¢ i e €89
g ng z™=l ¢ ¢ |- ngz=!l 0
g ug Fl l I - g FI LSO
AT IV oA L TWwiy1o
SO oy .I SO ¢y
Hi00g71e9€9 Zelld INIWHOVLLY 100L L€l Ld HIONVHO 1001
¥ G¥0-8020V ‘¥¥0-8020V -Buimelp Ajquessy
8 L S € _ 2

MO0117-1 version 3.6

28



2.2.9 Signal interface, M12 X-coded, robot side. Article: P1163

100

U U U u

Transfers 8 Ethernet signals to the tool attachment. Can be mounted at two different positions on
the tool changer. To be used with option P1164 on the tool attachment.

Technical data

Weight 0.06 kg
Electrical signals Circuit diagram E0208-077 (section 2.2.11)
Total signals 8 x Ethernet
Connection, robot side 100 mm cable, M12 8P, X-coded
i NOTE! Can not be mounted on TC20-4 ID P0139 or P0133.

2.2.10 Signal interface, M12 X-coded, tool side. Article: P1164

Transfers 8 Ethernet signals to the tool. Can be mounted at two different positions on the tool
attachment. To be used with option P1163 on the tool changer.

150

— —

o= D
000 -
000 ]
olele) —
00O
ClO= D
Technical data
Weight 0.03 kg
Electrical signals Circuit diagram E0208-078 (section 2.2.12)
Connection, tool side 150 mm cable, M12 8P, X-coded

MO0117-1 version 3.6 29



2.2.11 Circuit diagram E0208-077 for P1163

1

weJBelp ¥NoJID 0} PB1dBUL0D

- ¥ 3 2
A F Ov F O < NNO wo NO m m< S3anpodJdd \\ Q3A0UddY 3lva NOILdI¥OS3a A3 | anoz
(sebed jo 'oN) 8bed | Aey (aweuayy) "ou Juswnoog Jeuo \\ - - - -
Apwey xuu—m)m_!%%mg_ﬁn_o_ mm F Fﬁ_
o) mﬂm /l1Blesed uonduosaq UL Aq panosddy
Papod-X ZLIN 8inpow [eubis 0zO L iz, ; "
a v Aq paubisag 3 j
uol}0aUU0D Jawoisny _
wesbeip ynauY o} 0
3 J
(or4°]1]
a pupib o) papodo—X d8 ZIW
S, "
~
iy na T
- L a7/ rm )
ol NE g
— N g L
3
—)-
8
Em—
L
-
— 9
— g
\ = N9 T
.k NS/ i T
™2 50 Z
— snpous "Btbis ozvy ™I o0/Hm U e
| 9ZOMY
L.— Sl [ —— [

€91 L d 8inpow |euBis 0ZOL

wesbeip yN2JID 0] PajdBUU0Y

MO0117-1 version 3.6

30



2.2.12 Circuit diagram E0208-078 for P1164

- _ ¥ 13 2 _ 1
A —‘ OV F o < wNO wo NO m m< muu:uuL d \\ a3A0¥ddY 31va NOILdI¥OS3a ‘AW | 3NOZ =
(sebed Jo 'oN) 8bed | Aoy (aweuajy) "ou Juswnooq JeuLo \ 2 - wesBelp Jnoud 0} poioBuuoy
sy b 1 Gy ¥9lld wesbop oo o1 parpouuon | 4
2} wﬂ.m /l1Blesed uonduoseq —._.—.—2 Aq paaosddy
Pepod-X ZLIN 8inpow [eubis 0Zv.L T
uonduosag H_< Aqg pauBisag —
uoiO8UU0D JBWoIsnN)
weJBeip ynouID 0} PajBUL0Y
L Z £ ¥
3 3
[1. M1 4
a pPapod—-X d8 CILW O O Q @ N T
r = — j —
s ng
1 L ng/HM 1L -
9 Ng oL ‘
= TR— < 6 0l el
L
k] J
L
z e
7
}— 9 q —
£ 9 ¢
3 14 - NO 3G g
3 N9/ HM e
[4 90 [
|| = U 90/ HM G £9lLd ]
9CZOMY s|npow [publs QzZOL

91 Ld 8inpow [eubls 0ZV.L

31

MO0117-1 version 3.6



2.2.13 4x air coupling M5, robot side. Article: P1115

86,4

42

Transfers 4 additional pneumatic channels to the tool attachment. Can be mounted at two
different positions at TC20-4 and one single position at TC20-4E. To be used together with
option P1116 on the tool attachment.

Technical data

Weight 0.1 kg
Air channels User channels, robot side 4 x M5 (150 I/min, max 10 bar)
Air quality Oil-clean and waterless filtered air, with max
25um particle content

I NOTE! Can not be mounted on TC20-4 ID P0139 or P0133.

32 M0117-1 version 3.6



2.2.14 4x air coupling M5, tool side. Article: P1116

M5 (4X)

22,5

D
&
—— + C
O
o

42

—t _—

Transfers 4 pneumatic channels to the tool. Can be mounted at two different positions at TA20-4
and one single position at TA20-4E. To be used together with option P1115 on the tool changer.

Technical data

Weight ‘ 0.02 kg

Air channels Connections, tool side ‘ 4 x M5

2.2.15 Tool stand kit 20. Article: P0142

~ 125" _ o
\ 5
MY YN
NSEE ®
)
:
O O — -
T A o

This tool stand kit gives, mounted on a stand, gives in combination with tool attachments P0102,
P0104, P0123 or P0124 a robust tool stand for easy tool changing.

Technical data

Weight 0.3 kg

Maximum load 20 kg

MO0117-1 version 3.6 33



3 SPARE PARTS

3.1 Part list for tool changer P0101, P0103 and P1140

Item | Description Part number Wear part Pcs
1 Fastening screws M6x30 21212519-374 4
2 Air sealings 10158 X 4
3 Spring loaded signal pins (P0103 only) 10154 X 8
4 O-ring 11444 X 1
34 MO0117-1 version 3.6



3.2 Part list for tool changer P0139 and P0133

7)

A Y

//\

Iltem Description Part number Wear part Pcs
1 Fastening screws M16x30 21212519-382 4
2 Air sealings 10158 X 4
3 Spring loaded signal pins (P0133 only) 11783 X 8
4 Tube fittings 10927 6

MO0117-1 version 3.6 35



3.3 Part list for signal interface P1113

Iltem Description Part number Wear part Pcs
1 Spring loaded signal pins 10154 X 8
2 O-ring 11444 X 1

3.4 Part list for signal interface P1131 and P1163

Item Description Part number Wear part Pcs
1 Spring loaded signal pins 10154 X 12
2 O-ring 11467 X 1

36 M0117-1 version 3.6






r. P robot system
Products




